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The following Table-I shows the sales (in ¥ crore) of Ice-cream in India during the six years from
2018 to 2023 and Table-II shows the percentage market share of various companies in the sale of
Icecream in the year 2020. Based on the data in the tables, answer the questions that follow.

Table-1 : Year-wise Sale Details of Ice-Cream (in ¥ Crore).

s Ice-Cream Sale
(in Crore)
2018 7500
2019 8200
2020 8500
2021 8000
2022 8500
2023 9500

Table-II : Company-wise Percentage Market share in the Ice-Cream Sale in 2020

Baskin

Company | Amul |Wadilal| . | Wama |Kwality | Others
: Robbins '

Percent Share| 28% | 13% 10% 6% | 35% 8%

Sub questions

Question Number : 1 Question Id : 53307220203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the sales of Amul and Warna in 2020 ? (in ¥ crore)
(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options:
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307220204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average annual rate of increase in the Ice-Cream sale in 2023 in comparison to the year
2018 ?

() 533 %

(2) 2667 %

(3) 6.67 %

4) 10%

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307220205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the percentage market share of companies remains the same in 2021 as that in 2020, then what
is the increase/decrease in the turnover of Amul from 2020 to 2021 ?

()

(2) %140 crore decrease
(3)

(4)

< 175 crore increase

% 175 crore decrease
¥ 140 crore increase

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307220206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the sale of Wadilal increases by 38 % from 2020 to 2023, and the percent sale of other companies
accordingly stands reduced then what would be the market share of Wadilal in 2023 ?

1) 175%
Q) 18%

() 1694 %
() 1605 %

Options :
1.1
2.2
3.3



4.4

Question Number : 5 Question Id : 53307220207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The market share of companies in 2023 is same as in 2020. In 2024, the ice-cream sale increases by
10 % but the market share of Amul falls to 23 %. What is the percentage change in the turnover of
Amul from 2023 to 2024 ?

(1) 964 % increase
(2) 9.64 % decrease
(3) 17.86 % increase
(4) 17.86 % decrease

Options:
1.1
2.2
3.3
4.4

Question Id : 53307220202 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 53307220203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 2020 § ST TR oA A farsht < s o1 SR foha1 (TFUS W) B2

(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options :
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307220204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a 2018 F qoF H T4 2023 W MW W Fi Tkt # i et 9fig e €2
(1) 533 %

(2) 26.67 %
(3) 6.67 %
(4) 10 %
Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307220205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307220206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2020 9 2023 T AT 2 fohl H 38 % g B & IR 974 A 2 Woue fooh H g
9 &, @ ad 2003 % STl % A SR foe g

(1) 175%

2 18%
() 169 %
() 1605 %
Options :
1.1

2.2

3.3

4.4

Question Number : 5 Question Id : 53307220207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2023t 1 AT SR 7@ & W 2020 % e 2024 % w7 o # 10 % o 9 ¥ W
ST o TR S FTORA 23 % B ST 2 1 2023 2024 T St o BRI H ol oo e o & 7
(1) 964 %3

(2) 964 % FH

(3) 1786 % g

(4) 1786 % 7

Options :

1.1

2.2

3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 533072792
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 53307220208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of the cycle of self regulated learning in logical order ?
A) Setting goals
B) Regulating learning

D) Analysing the task
E) Devising plans
Choose the correct answet from the options given below :

0 E), (D) (B), (A) (©

(
(
(C) Enacting Tactics and Strategies
(
(

(2)  (B), (C), (E), (D), (A)
(3) (D) (A), E), (©) (B)
4) (A) (E), ©), (B), D)
Options

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 53307220208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o -fafafiad SIferTy <15k o eI 1 dlfcheh ohH H ool i
(A) @& TAifa e

(B) aferm fafvafaa s

(C) fFar sir TorHifat T= #0m

(D) T7gd =/ = fagerao HE

(E) A IR AT

<= fou T faeredi § | W& S % =AA Hifod

(1) (E), (D), (B), (A), (C)

(2)  (B), (O (E), (D), (A)
(@) (D) (A), (E), (O (B)
(4) (A), (E), (Q), (B), (D)
Options :
1.1

2.2



3.3
4.4

Question Number : 7 Question Id : 53307220209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the content that we have previously learned interferes with the recall of something newly
learned then the interference is :

(1)  Retroactive Inhibition

(2) Proactive Inhibition

(3) Attention Inhibition

o

Response [nhibition

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307220209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

74 B G e e T fera A o Hh ¢ H o o fee e w ¢ A 9 TRy a
g

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307220210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Anna sits at her kitchen table and is able to think about what she needs to buy from the grocery
stores. She is using her ability to:

(I) Recognise
(2) Recite
(3)  Recall
( A

4)  Memorize

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307220210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 ST T R B S TR e U e 2 ¢ 1 30 feR e A T S A e
T & | 9 A A 7 T fwfefen & fu @ g

(1) T

(2) g
(3) A
(4) FoWF
Options:
1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 53307220211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of Swayamprabha Channel-11 with the theme of “Social Sciences and Humanities’
are provided by :

(1) CEC, New Delhi
(2) IGNOU, New Delhi
(3) T, Delhi

(4) T, Madras

Options :
1.1



2.2
3.3
4.4

Question Number : 9 Question Id : 53307220211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 o7 - 11 %1 5 form iR sfo ' o @ e s frwrfi gm0 soere #E S

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307220212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a biology class, a teacher wants to conduct a formative assessment to gauge students
understanding of cell structure and function. Which of the following tools would be most effective
for creating interactive quizzes with immediate feedback ?

(A) Google forms

(B) Adobe [llustrator

(C) Kahoot

(D) Audacity

(E) Camtasia

Choose the correct answer from the options given below :
() (B), (C) and (E) Only

(2) (A), (©), (D) and (E) Only
(3) (A)and (C) Only

(4) (B), (D) and (E) Only
Options :

1.1

2.2



3.3
4.4

Question Number : 10 Question Id : 53307220212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W9 faqm 1 T 1 W S, FE S W R g 5 6 A 6 6
fere Fmfomeees v 1 &1 e Wioge (reas:) Gfed Wom Harearet FHmfe & S 7 &
feu ffefian SH-11 SvE Fo® g9 2

(A) Tl

(B) T TR

) #E

(D) el (efae)

(E) Wl

e feu o ot W @ W@ I A T e
(1) %A (B), (C) R (E)
(2) 9 (A), (C), (D) 4R (E)
(3) A (A) IR (C)

(4) (B, (D) 3 (B
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307220213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following represents the epistemological orientation of qualitative research ?
(1) Deductivism

(2) Positivism

(3)  Objectivism

(4) Interpretivism

Options :
1.1
2.2



3.3
4.4

Question Number : 11 Question Id : 53307220213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefa & § SF ToTeTE e & FEEEERE Afifem e w g2

(1) e

(2) HHHAS

(3) famafear
(4) SAEAER

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307220214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In many studies that span along period of time, participants in the study may leave. This constitutes
which of the following threats to internal validity ?

(I) Testing

(2) Instrumentation
(3) Mortality

(4) Maturation
Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307220214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T o aer o W wee ol 3R R oo o wevrh ol W § 1 %R ol v ¥ ot
fepetfefim @ #19- Wfaw §7

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307220215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order of the following nformation about a research article, according to the

APA style of writing journal article references.

(A) Volume number

(B) Year of publication

(C) DOL

(D) Title of article

(E) Name of journal

Choose the correct answer from the options given below :

M) (©) (D) (B) (A) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307220215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i o fere 1 T e % SR, 9 o & R H ffafed SRR % T8 6 wEE
(A) HEHEA

(B) TV A

(C) & o

(D) @ 1 wivF

(E) e & AW

A fou U ferhedl o | W 3 A T
() (©), (D), (B), (A), (E

) (®) (D) (E) (A) (©
() D) (E) (), (B) (©
(4) D) (&) (), (A), (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 53307220216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the continuous variables.
(A) Number of tails obtained in hundred tosses of a coin

(B) Weight of students in a school

(C) Marks scored by students in an objective type examination
(D) Height of plants in an agricultural field

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options:

1.1

2.2

3.3

4.4



Question Number : 14 Question Id : 53307220216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qad =7 1 JedH S

(A) Tordl TR 1 T 91 R 380! SH 9 9T 92 hl SE&AT
(B) Tordt fagarem # fagafdi &1 o=

(C) =M YR =i THian | fagafedi & i
(D) WdraEt ot ot B o dtel o S

= feu v fasedi § 9 We ST 1 =999 Fife
(1) <9 (A) 3R (B)

(2) %= (C) ¥R (D)

(3) FE (A) IR ()

(4) 9 (B) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 53307220217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the non-parametric tests used in statistical arlal}rsis.
(A) Chi-square test

(B) U-test
(C) H-test
(D) t-test

Choose the correct answer from the options given below :
(I) (A) and (B) Only
(2) (B) and (C) Only
(3) (©) and (D) Only
)

(4) (A) and (D) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 15 Question Id : 53307220217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gifersa faverao § ygaa sTam=rel 9iervi 1 qe=H Fifer ;
(A) HE - A GHE

(B) ¥ - &
(C) TH - e
(D) & - Tdiem

= feu U fawed °§ 9 WEr 3 =9 FH I
(1) ad (A) 3R (B)

(2) haa (B) R (C)
(3) A (C) 3R (D)
(4) FaA (A) 3R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 53307220218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A cartoon is of :

(1) High definition
(2) Low definition
(3) Neutral definition

(4) Negative definition

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307220218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T Bl €

(1) = gl I

) T e

(3) HEAH Tl

) FTRUCHE Tl

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 53307220219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The period of time when a communication network becomes inoperative, is referred to as :
(1)  Time fit

2
3
4

(2) Uptime
(3) Downtime
(4) Loadtime
Options:
1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307220219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

grarafy foad §9r Jeas faferg 8 5 & 59 9efia 9 © -

(1) =rEm e
(2) 9 <I=H
(3) SIS drgH
(4) S A

Options:

1.1

2.2

3.3



4.4

Question Number : 18 Question Id : 53307220220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following concepts are related to mass communication ?
(A) Global village

(B) Medium is the message

(C) The extension of man

(D) Pop culture prophet

Choose the correct answer from the options given below :
(1) (A), (D) Only

() (A), (B) and () Only

(3 (B), (C) and (D) Only

(4) (A)and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 18 Question Id : 53307220220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafga § § @9 9 deegd 5@ 99r 9 defum €2
(A) dIfvees am
(B) AW WM
(C) WHA faEr
19 HEFfd A el
A= feu 7o foepedl o 9 W& I = = S
(1) < (A), (D)

(2) %9 (A), (B) TR (C)
(3) %9 (B), (C) ¥R (D)
(4) FAA (A) SR (B)
Options :

1.1



2.2
3.3
4.4

Question Number : 19 Question Id : 53307220221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As a mode of communication, drama has four forms from the western perspective. They are :
(A) Tragedy

(B) Comedy

(C) Serious drama
(D) Melodrama

(E) Character drama

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) Only

(2)  (B), (C), (E) Only
(3) (A)(C), (D), () Only
(4)  (A), (B), (D), (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307220221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR goretl % &9 H, ufyeed g  eE FER R g9 €
(A) Sl

(B) WeEA

(C) TR Ae®

(D) =fd e

(E) =Rk Ak

i< feu T fashedi H | Wa 3L 1 TG HifeU
(1) = (A), (B), (O), (D)

(2) = (B), (O), (E)

(3) @ (A), (O), (D), (B)

(4) = (A), (B), (D), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 53307220222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the correct ch_rnnnlngica] sequence of the fn]lnwing 3
(A) Launch of Twitter

(B) Launch of Facebook

(C) Appearance of social network sites
(D) Launch of Spuinik

(E) “War of the worlds’ broadcast

Choose the correct answer from the Dptinns given below :

(L) (A) (©), (B), (E), (D)

2 (B), (D), (C), (B), (A)
(3)  (B), (B), (D), (A), (C)
4) (©), (B), (A), (D), (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 20 Question Id : 53307220222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafea =1 9t FeArshHe el i o Y
(A) T2oeX &1 Ry

(B) THHEH H HRH
(C) IfSre =Zerk g2y =1 SAffavie
(D) TIATTF SR

i

(E) '9R 1% &1 doed’ dieHe

e feu U faspedl O ¥ W& 39 F 9949 Hifo
(1) (A) (©), (B), (E), (D)

@ (E), (D) (©), (B), (A)

(3) (B), (E). (D), (A), (C)

4) (©), (B), (A), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307220223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 15 %, 20 % and 40 % on the marked price of an item are equivalent
to a single discount of :

) 5%

) 408 %
) 592 %
) 675 %



Question Number : 21 Question Id : 53307220223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fereil o o Sifohd Ted T AR FHIE T2 15 %, 20 % T 40 % o FHHH Thet 922 7
1) 7%

() 408 %
(3) 59.2 %
(4) 67.5%
Options :
1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 53307220224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 men working 8 hours per day complete a piece of work in 18 days. To complete the same work
in 6 days, working 12 hours a day, the number of men required will be :
) 24 men
) 26 men
3) 28 men
) 30 men
Options :
1.1
2.2

3.3
4.4

Question Number : 22 Question Id : 53307220224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 ST fafeet 8 e % ek 18 ol & 0 W 0 0 1 3H AW A 6 fe § e F fow yfeen
12 %21 %W T, ot SR 1 vl g ?

(1) 24 il 3

(2) 26 SRfl A

(3) 28 Sl &l

(4) 30 smwh Al

Options :



1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307220225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the series.....
275, 7Y7, 14X9, 23W11, 34V13, (?7)

(1) 27024
(2) 45U15
(3) 47U15
(4) 47U14
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 53307220225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 sj@ren # 3Ter 9 3 e
275, 7Y7, 14X9, 23W11, 34V13, (?)
(1) 27024
(2) 45U15
(3) 47U15
(4) 47014
Options :
1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307220226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word "TREND’ is coded as ‘QUBQA’, then the word ‘STRAY’
will be coded as.

() PVPDV

(2) PWPDW

(3) PWODV

(4) QWPEW

=y

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307220226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fAf¥an Fecia 9§ 92 ‘TREND’ #1'QUBQA’ 8 Ffed o 911 &, 7@ T2 STRAY' 1 2
caf

(1) PVPDV

() PWPDW
(3 PWODV
(4 QWPEW
Options:
1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307220227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person travels from X to Y at a speed of 30 km/hr and returns from Y to X by increasing his
speed by 50%. His average speed during the journey is :

(1) 375 km/hr

(2) 37 km/hr

(3) 36 km/hr

(4) 38 km/hr

Options :
1.1
2.2



3.3
4.4

Question Number : 25 Question Id : 53307220227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e 30 fope,/sien 1 fa B X Y 9 A T € R 50% At v F Y W X 7 g o |
1 o SR Sh Sir Il P e 2

(1) 375 ot o
(2) 37 ol /d
(3) 36 foll. /4
(4) 36 foll. /4
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307220228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify the fallacy committed in the statement given below :

“People who lack arrogance are intelligent because intelligent people do not have arrogance”
(1) Equivocation

(2) Fallacy of division
(3
(

)
) Begging the question
g

Fa]la.c;yF of composilion

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 53307220228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



friferfaa o § aehe & TeEE
o T H SR T B, o SfgHE I © TR SfHA el W SRR el el |
1) SR

(

(2) farEdm
(3) e 3y
(4) Hefadm
Options :

1.1

2.2

3.3

4.4

Question Number : 27 Question Id : 53307220229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions is contrary to the proposition. “All cows are herbivores” ?

(1) All herbivores are cows.

3
4)  No cows are herbivores.

2)  Some cows are herbivores.
) Some cows are not herbivores.

(
(
(

Options:
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307220229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freforfea # | S ot giaafa fF et 7 wermert St €' = s €2
1) |t IR T €

2) Tl T ST B € |

3) T M IEER T B ¢ |

4) I TT YRR T A )

Options :
1.1

(
(
(
(



2.2
3.3
4.4

Question Number : 28 Question Id : 53307220230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) All cows are herbivores.

(B) All herbivores are cows.

(C) Some herbivores are cows.

(D) No cows are non-herbivores.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (B) and (D) Only

(3) (B) and (Q) Only
4) (A) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 28 Question Id : 53307220230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafad & & -8 Hu difdhes gfte & THqe §2
(A)  [off T wITeRTRTY e € |

(B) Wl MRS T4 =ld 2 |

(C) o IMFTERT T B 2 |

(D) T2 A TR eRE e ol ¢ |

=1 feu 1o faskedi § ¥ W I & =99 Hifad
(1) <9 (A) 3R (B)

(2) I (B) $R (D)

(3) = (B) 3R (Q)

(4) A (A) #R (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307220231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions cannot both be false, though they can both be true ?
(A) All cows are herbivores,

(B) No cows are herbivores.

(C) Some cows are herbivores.

(D) Some cows are not herbivores.

Choose the correct answer from the options given below :

(1) (A)and (D) Only

@ (0 and (D) Only
(3) (B) and (C) Only
@

4) (A)and (C) Only
Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307220231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frerfetfie wfamfiae o 3§ M o < wfeafiest o T @ e, wes § 5 Wl @ ga £
(A) T T IR B

) I T VTR T B &
C) @@wﬁwrﬂa‘m%
(D) ¥ T TR Tl el ¢
%ﬁqwﬁwﬂﬂﬁqﬁrwwwﬁm:
(1) A) 3 (D)
( ) SR (D
(3) ) ¥ (C
(4) A) 3 (C)

% &% 9 g

(=]

(
{
(
(4)

EREI

1

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307220232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to dlassical Indian Philosophy the source of knowledge based on cognition of an object,
similar to another one which is already known to the cognizer is known as :

(1) Sabda

(2) Pratyaksa
(3) Anumina
(

4)  Upamana

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307220232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307220233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the fourth generation
electronic computer ?

(1) Transistor based

(2) Integrated Circuit (IC) based

(3)  Vacuum Tube based

(4)  Microprocessor based

Options:
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307220233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 5 8 3 ) geraiien e aqd el % SemRen He TN o TE W ¢ 7
WEEERE R

Options :
1.1



2.2
3.3
4.4

Question Number : 32 Question Id : 53307220234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Many websites require the following to be completed :

Ll 'm not a robot.

This is an example of which data issue ?
(1) Accuracy

(2) Matching

(3) Quality

(4) Security

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307220234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3k derdErsel W = @ gu fee S o sevgedl B ©

Ll I'm not a robot.

I8 <21 HeHl %A H 78 1 I3 & 2

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307220235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph :

is small amount of memory located on the CPU itself.
_____ is a form of ROM that is commonly used in embedded devices such as washing
machines, smart phones, etc. 15 mainly used in a PC to store the tiny OS called the
BIOS. is a storage allocation scheme in which secondary memory can be addressed as
though it were part of the main memory. is a type of very fast memory that is used to
temporarily hold data about currently running programs.
(A) ROM
(B) RAM
(C
(D
(E)  Virtual memory
Choose the correct answer from the options given below :
(1) @) © (4) E) B
2) (© (D) (A), () (B)
3) (©, (D) (B), (E), (A)
4) () (D) (4), ), (E)

) Cache memory
)

Flash memory

{
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307220235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3) (), (D) (B), (), (A
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Options :
1.1

2.2

3.3

4.4

Question Number : 34 Question Id : 53307220236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If (L)y; represents a number L in base-M number system, then which of the following numbers are
equivalent to (19),, ?

(A) (11001),

(B) (201)5

(€ (121),

(D) (1015

E) D)y

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only
(2) (B) and (D) Only

() (A) () and (D) Only
() (A),(B) (C), (D) and (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 53307220236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AfesTem-M el vt # (L), § LA <o & 9 1 § | 91 5 e (19),, % T §7
(A) (11001),

(B) (201),

(C) (121),

(D) (101,

E) (B)

el feu o fomredi & 9@ W SR A T FHC
1) (A), (C) IR (B)

) % (B) R (D)

3) % (A), B) (D)

4 (A),(B) () D) I E

—— e g—

Options :
1.1
2.2
3.3



4.4

Question Number : 35 Question Id : 53307220237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - 11
(Computer Terms) (Purpose)
(A) Motherboard (I Stores the date, time and system configuration for BIOS
(B) BIOS (I)  Allows processor and other hardware to function and
communicate with each other
(€) CMOS (IT) Transfer the contents of web pages into a web browser for
viewing
(D) HITP (IV) Initializes and tests the system hardware components and

loads an OS5 when a computer is turned on
Choose the correct answer from the options given below :
() (A, B, (CHIV), (HIL)
2)  (A){I), (B}IV), (CH), (DHI)
3) (A}, (B)-(V), (C)-(1), (D(II)
) (A

) (V) (BHI, CHID, (1)

@ |
@
@
Options :
1.1
2.2
3.3

4.4

Question Number : 35 Question Id : 53307220237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A, B)-(), (OHIV), (D)

(@) (A, (B)-{V), (CHD), D))

() (AHI, B)-(IV), (C)-{D), (D)

(4)  (AHIV), (B)-(IL), (CHI, (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 36 Question Id : 53307220238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Kyoto protocol, how much target was fixed for the reduction of concentration of Green House
Gases (GHGs) below 1990 level, during first commitment period 2008-12 by state parties ?

(1) 10°%
Q) 52%
() 104 %
) 200°%

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307220238 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

e ovTcr %0 e g e et e et 2008-12 % SR 9 e i (GHGs) % e &
1990 %R § &9 11 1 oy @ fwifa fovn o2
() 10%

2 52%

(3) 104 %

(&) 200 %

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307220239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are biogas ?

(A) Marsh Gas

(B) Swamp Gas

(C) Producer Gas

(D) Compost Gas

(E) Flue Gas

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2) (B), (€) and (E) Only
(3)  (A), (C) and (E) Only
(4) (©), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307220239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafaa & & # awEg 2
(A) HE "

(B) @ ig

(C) W TE

(D) HIE TH

(E) W™

= feu U foeredi § 9 Wer SO &1 =949 Hi
(1) de (A), (B) &R (D)
(2) e (B), (C) IR (E)
(3) FaA (A), (C) R (E)
(4) %= (C), (D) ¥R (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307220240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered to be the finest particulate matter ?
(I) Fine mode particles

(2) Neucleation mode particles

(3) Aitken mode particles

(4)  Accumulation mode particles

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307220240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafeas § 4 fora w1 gaman HforeR ge1ed wH1 ST € 7
(1) A (gaH) Hie afésay

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307220241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the fullnw'mg 15 an Example of natural climate fnrcing ?
(1) Green House Gases

(2) Volcanic erruptions
(3) Land use changes

(4) Tropospheric aerosols
Options:

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307220241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 219 T WFfas a9 9617 F1 UF e © 2
(1) ¥UH &9 TH

(2) OTETE F EE

(3)  uff 37ErT afEdd
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Options :
1.1
2.2

3.3



4.4

Question Number : 40 Question Id : 53307220242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Pyrolysis ?

(A) It produces less air pollution than complete incineration.

(B) It is done in the presence of oxygen.

(C) Instead of oxidation a complex series of decomposition and other chemical reactions take
place.

(D) Pyrolysis many times generates useful materials.

(E)  Pyrolysis is a high temperature thermal process, an alternative to incineration,

Choose the correct answer from the options given below :

() (4)(B)(C)and (D) Only

) (A) (0) () and (E) Orly

() (B), (C), () and (E) Only

(4) (A), (B) and (E) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307220242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(B) 7% e o Iuferta W o e €
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(D) 93T g S ST T S ¢
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13 fow T forrel 9 R R 9 T
(1) 9 (A), (B), (C) R (D)

() % () (C), (D) ¥R (B

(3) % (), (C) (D) ()

(4) 9 (A), (B) M (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 53307220243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first foreign university to set up its campus at GIFT City, Gujarat, is :
(1) London University, Britain

(2) Queen’s University, Ireland

(3) Deak in University, Australia

(4) Moscow University, Russia

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307220243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



St o WE 2 5 (GIFT City), o ¥ o1 W, <o e ren ween focet fervafermera @ ¢
(1) e fovafaaed (FFameer), fae

(2) F forfemme, faed
(3) i foveifommer, smefem
(4) Wi fovfommerd, 9
Options :

1.1

2.2

3.3

4.4

Question Number : 42 Question Id : 53307220244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy 2020 recommended moving towards.
(1) Suburban Universities

(2) Single discipline Universities

(3) Multi-disciplinary Universities

(4) Specialised Universities

Options:

1.1

2.2

3.3
4.4

Question Number : 42 Question Id : 53307220244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T foen Aifa, 2020 # fFAefafea = fom o o ae7 =1 fowf #31w oF
(1) IFRE foyafaemTa

(2) UeFe-foug oot favafaered
(3) wg-foudt favafaemaa
(4) oo favafemmera
Options :
1.1
2.2

3.3



4.4

Question Number : 43 Question Id : 53307220245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the public sector universities from the following that have the highest number of
collaboration with foreign universities.

(A) Indian Institute of Technology, Kanpur

(B) Indian Institute of Science, Bengaluru

(C) Pondicherry University, Pondicherry

(D) North-Eastern Hill University, Shillong

(E) Gujarat Vidyapeeth, Gujarat

Choose the correct answer from the options given below :
() () (8)(0 Oy

@ (B)(C) (D) Only
() (©) (D) (E) Only
(#) () (D) (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 43 Question Id : 53307220245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e ge €
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(1) A (A), (B) (C)
() A () () D)
(3) ¥ (C), D) (B
(4) % (A), (D) ()
Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 53307220246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following come under the category of stand-alone professional universities ?
) Universities of Journalism
B) Law Universities
) Health Science Universities
) Technical Universities
) Homeopathy Universities

(A
(B)
(€
(D
E

Choose the correct answer from the options given below :
() (A); (B), (C) Only

() (A), (B), (D) Only

(3) (C),- (D), (E) Only

(4) (), (C), (D) Only

Options :

1.1
2.2



3.3
4.4

Question Number : 44 Question Id : 53307220246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3
4.4

Question Number : 45 Question Id : 53307220247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - 1
(Commission/Committee)

) University Education Commission (1948-49)
Sanskrit Commission

(A
(B)
(C) Education Commission (1964-66)
D)

(1954)

Committee on Higher Education for Rural Areas

List - II
(Chairperson)

() D.S. Kothari

(I) K. L. Shirmali

(L) S. Radhakrishna

(IV) Suniti Kumar Chatterji

Choose the correct answer from the Dptiuns given below :

(1) (A0, (BH), (C)-(ID), (D)-IV)
(2) (A, B)-(), (©)-IV), (D)-0)
() (A)-(I), BIIV), (CHD), (DHI)
(@) AHLV), (BHD), (C-(I), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 53307220247 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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(D) (AHD, B)-(), (©)-(IL), (D)-(V)

(2)  (AHI), B)-UD, ©-1V), (D)-0)
(3)  (A)-(I), (B)LV), (C)-(I), (D)-(I)
4 (AHIV), B)-(D), (C(I), (DHII)

Options :
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1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072793
Question Shuffling Allowed : No

Question Id : 53307220248 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions given below :

Santiniketan attempted to produce a culture, which was Bengali/Indian in its construction and
approach yet significant to the modern world. In 1912, Rabindranath established an institution called
Ashram-Sammilani. It was a body of elected students with teachers in-charge to look after the functioning
of the school. Students” Unions are primarily concerned with student interest; they-or any other union,
for that matter-are formed to protect their rights against the authority’s misuse of power, There was a
court run by the elected student body. Whenever there was a complaint of any serious offence, the court
had its session with the accused in some quiet place after dinner. The Sammilani met twice a month-
once on new-moon nights, the other on full-moon nights. During Rabindranath’s long stay at Silaidaha
among the villagers he realised that only sel[—suﬂiciency, self-rule and self-respect could free our rural
population from their weakness, poverty and sense of inferiority; that it was society that should rule, not
the state imported from Europe, Srinikefan-Visva-Bharati's rural development,/ reconstruction programme
started in 1922, Rabindranath applied the principles of the co-operative movement to Sriniketan; and as
we know he applied it everywhere-equal respect for everybody, equal participation, equal distribution
of material and spiritual wealth,

Sub questions

Question Number : 46 Question Id : 53307220249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Main aim of Santiniketan can be stated as :

(1) To spread the culture of Kolkata

(2) To completely ignore the western influences

(3) To emphasize on a culture that was Bengali/Indian yet significant to the modern world
(4)  To focus only on the traditional folk culture

Options :
1.1
2.2
3.3



4.4

Question Number : 47 Question Id : 53307220250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aim of Ashram-Sammilani was :

(I)  To function as a typical student union

(2) To talk about the student’s rights

(3) To look after the functioning of the school with a body of elected students and teachers
in-charge

(4)  To manage the financial situation of the institution

Options:
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307220251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How often did the Ashram-Sammilani meet ?
(1) Once a year

(2) Twice a month
(3) Weekly

(4) Monthly
Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 53307220252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What did Rabindranath Tagore realize while he stayed in Silaidaha ?
(1) Only education can uplift the society.

2)  Society should rule, not the state imported from Europe.

3

4) Traditional model of governance is the best approach.

) Industrialization is the major key to prosperity.

(
(
(

Options :
1.1



2.2
3.3
4.4

Question Number : 50 Question Id : 53307220253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What principles did Rabindranath Tagore apply to Sriniketan’s rural development program ?
(1) Centralized governance

(2) Industrial growth

(3)  Equal respect, participation and distribution of wealth

(4)  Personal growth over community welfare

Options :
1.1
2.2
3.3
4.4

Question Id : 53307220248 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 53307220249 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Wi 1 @A i el 1 Wehell ¢ -

(1) hiceRT i GHTd  ToR F

) UEI TET B W SRR

3) U U Gl W AE o @ e e 2 R o snefe fava & fo wewee &
) WY @ ST WA S H B

Options :

1.1

2.2

3.3
4.4

Question Number : 47 Question Id : 53307220250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
S9W - W 1 3299 o017
) Wl BEEE & B H FE
2) B % AR F 9 H a6 FA
) Traifea BB SR 99 el o e & @y faemed & 1 # a5
4) oE # o fegfa o1 yeeA W

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307220251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sgw AfFET F S3E a9 g o ?
(1) =4 H TH IR

(2) TEH TR

(3) wrfesh

(4) \If9EH

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 53307220252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

facTrrge W 109 Werd & SR TeiEe | = weqd o ?
(1) foen | & gurst &1 Zeu 8 9 ¢

(2) HHM o UTEA S =1feT 7 o g9 | Eiad I o |
3) ieifertmta ggfs #t 7@ e

(4) ITEA 1 WO Hiee IS IINTH 2|

—

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307220253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SR A ke % e foerg s | o fagial @ s fem o2

)
3)  HHM S, WRiER! SR O 1 fem
) HIHEIaE FHeA o WA W T ferer

Options:
1.1
2.2
3.3
4.4

Political Science
SectionId: 533072266
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072794
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307220254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under which Article of the Indian Constitution, formation of the Finance Commission is laid
down?

L. Article 269
2. Article 271
3. Article 280
4. Article 289

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 53307220254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR HiaH & fh g 3wess &b SAcid T ST o 7164 &l a1 715 ¢ 2
1. 3G 269
2. 3®q 271
3. 3TwE 280
4, TG 289

Options :
1.1
2.2




3.3
4.4

Question Number : 52 Question Id : 53307220255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Article of the Indian Constitution makes special provision for the Administration of
certain areas called * Schdeuled Areas’?

1. Article 249
2. Article 244 (1)
3. Article 253

4. Article 259

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307220255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IRl a8 T bl T G - 3F9ad &7 Bgel alel e I &t o IR & forw
fa=IY TG Xl g2

Options :
1.1
2.2
3.3
4.4



Question Number : 53 Question Id : 53307220256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“The state shall take steps to organize village Panchavats and endow them with high powers and
authority as may be necessary to enable them to function as units of self-government™
Which Article of the Indian Constitution mention it?

1. Article 40
2. Article 37
3. Article 33

4. Article 43
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307220256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I T TR 61 16+ % o iU v FATQTT 3R 37 Ui ikt 3fR Wi W
BN W1 I W A B 301U & T H SR X o T 41 & e 31 gy
YR Hia4H &1 DM T 3w Ig Seid dRal ¢ 2

iﬂﬂ%ﬂ(}

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307220257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which Indian President inaugurated newly restored Somnath Temple?

1. Rajendra Prasad

2. Giani Zail Singh

LS

. Neelam Sanjeeva Reddy

4. Radhakrishnan
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307220257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fob e R Iy uf = SR 6T T QiH-ry HicR o1 3qure fdbar 2
1. XTolg U9TG

2. T o Rig
3. Hicy Yuilq ISt

4, ATHUTHWH

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307220258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



All- JTammu Kashmir Muslim Conference was formed in-

1 1932

(i)

1933

(el

. 1943

4. 1939
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307220258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3l 5] HIHR GRATH I3 BT T8 g3 -
1.1932H

1933 H

[

3.1943

4.1939H

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307220259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘Mook Navak’ newspaper was published by-

l. Mahatma Gandhi

o]

.Dr. B. R. Ambedkar

Lad

.M. N. Roy
4. Gopal Krishna Gokhale

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307220259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Heb A GHERYA DI UbIIR1d far T -
. FeTeT e
31l 3R, 3FESH

(g

UH.T4.39

RPN EAURIIEC

Options :
1.1
2.2
3.3
4.4

(s

Question Number : 57 Question Id : 53307220260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who stated-

"There is nothing absolute in management affairs. Seldom do we have to apply the same
principle twice as in identical conditions; allowance must be made for different changing
circumstances?

1. Max Weber
2. Peter Drucker

3. Bertram Gross

4. Henri Fayol

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307220260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fob e T 2
Tt 3 A H §8 i R TS T der ¢ o The fRufoat 7 e fgia o
TR A B o1 ¢ - i ufae-a uRkRufedt & fo ge & S aifgu

1 A R
2. JleT 3R
3. 9 Y
4. g Bl

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307220261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who conceived the notion of 'Linking Pin Model?

1. Elton Mavo

(i)

. Fred Riggs

(el

. Renin Likert

4. Woodrow Wilson
Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307220261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feifeb1 1 AlS T BT YR BT BTl fbg ol 2
. Yo A
2. The g
3. 3 dgde

4. 4o faesH

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307220262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Pakistan exploded its first nuclear bomb at-

1. Abbotabad

(i)

. Chagai
3. Dalbadin
4. Haripur

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307220262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ty [

OTi&I = 3041 UYH WRYY] 94 [9ehie fbar -

|. Uderdlg
S
3. Gadg

4. BRI

Options:
1.1
2.2
3.3
4.4

[

Question Number : 60 Question Id : 53307220263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who become first democratically elected woman prime-minister in Islamic world?

1. Sheikh Hasina Wazid
2. Hina Rabbani Khar
3. Khalida Zia

4. Benazir Bhutto
Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307220263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DI SEAHD G141 | Ugdl didhdli-dd w0 ¥ Haifad T o -
1. 3G g dTforg
R RIECEIRIESIE
3. ifeeT fo
4. S9IR Yl

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307220264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Democratic Party of the United States was established in-

1 1775

(i)

. 1803
3. 1828

4. 1901
Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307220264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IS¢ S Wy di SHIshicd Urdl &t w1 gs 4f -

1. 770

g

. 1803
3. 1828

4. 1901

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307220265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Under which Prime-Minister, 73rd and 74th Constitution Amendment Act was passed?

1. V. P. Singh
2. Morarji Desal
3. Atal Bihari Vajpayee

4. P. V. Narasimha Rao
Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307220265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fh g gy & Sfdid 739 3R 74d Gidy GxeH Ude uikd gu 2
1. 9. o1 g

ARRS a1y

3. 3fed fagRt areudt

4. 4t dt, RIgwEIIa

Options :
1.1
2.2
3.3
4.4

I3

Question Number : 63 Question Id : 53307220266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which politician has become Chief Minister of two states?

1. N. D. Tiwari

(i)

. Sharad Pawar

(el

. Jyoti Basu
4. Karpoori Thakur

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307220266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&I Y ISR S I8l & GEAHAI S ddh g 2
1. T4, 3l faardd

(g

. 2Mq UdY
3. i &g
4. DY BIPR

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307220267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which Chief Minister was removed first time in India by the use/misuse of Article 3567

1. N. T. Rama Rao

2. E. M. S. Namboodripad
3. Ram Krishna Hedge

4. Bhagat Singh Koshyari

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307220267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S Y Tl & YR | Ugell IR =G 356 BT ST GG dd g T 2
L. U, &3m0

2. 3. T, 0. Fedlue
3 IS
4, YT g BIzaR

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307220268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who was the first Chief Election Commissioner of India?

1. S. P. Sen Verma

(i)

. S.L. Shakdhar

(el

. Sukumar Sen

4. T. N. Seshan
Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307220268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
YRd & Y2 G (Had gdd HH 4 2
1. QY. 4. 99 aaf

3. HIR I
4. C1L U, ”IYA

Options :
1.1
2.2
3.3
4.4

[

Question Number : 66 Question Id : 53307220269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which American President got ‘Nobel prize for Peace’ for his efforts of mediation between Japan
and Russia?

. Ronald Reagan
2. John F. Kennedy
3. George W. Bush

4. Theodore Roosevelt

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307220269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T Sfrrdien! IPUFe T SO SR 9 & S ARl o 37 JArd! & fofg ife o1 Ao
R fearmmn

G RG]
). A TG, Brfal

3. 9ol 5, 4
1 AR i

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307220270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In which year, present Dalailama came to India?

1. 1959

(i)

. 1960

(el

. 1961

4. 1963
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307220270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JdHT Gdls dE HRd H &d 341U 2

1. 1959

g

. 1960

5]

. 1961

4. 1963

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307220271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In which year, Burma was bifurcated from British India?

1 Y915

(i)

1T
3. 1923

4. 1937
Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307220271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g gy | 991 &I fofe= R T 3fe fbar 2

110D

g

. 1917
3.1923

4. 1937

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307220272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who was the first Chief Minister of Tamilnadu?

1. I. Jayalalitha

(i)

. K. Kamraj

(el

. C. N. Annadural

4. K. Karunanidhi
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307220272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS & UUH AT DI 4 2
L. . SPgeferdn

. BRI

[

1L T 3Ty
4. &, HBUMHTY

Options :
1.1
2.2
3.3
4.4

(el

Question Number : 70 Question Id : 53307220273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who was the Chairman of 15th Finance Commission of India?

1. N. K. Singh

(i)

.A. K. Chanda

(el

. Dr. Rajamannar
4. Montak Singh Ahluwalia

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307220273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR & 153 (o< ™M & & D U 2
1. %, Rig

U . gl

==

(g

3. 3. ASHAR

4. Ai¢h g SMgqdriearn
Options :
1.1
2.2

3.3
4.4

Question Number : 71 Question Id : 53307220274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which American President had laid down “fourteen points™ as the basis for peace after World
War I?

1. Theodore Roosevelt
2. James Madison
3. Millard Fillmore

4. Woodrow Wilson

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307220274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

febg SmRe! Ui Tuw 9y b Uy Wi & YR & 20 A ieg fagail i oaw
&

1. RS idee
2, R HfeE

3. fierrs bR
4. T faed

Options:
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307220275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In India, the Speaker of Lok Sabha appointed the Pataskar Committee in 1954 to examine the
issue of-

|. Panchayati Ra
2. Fundamental Duties
3. Deligated Legislation

4, Money Bill

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307220275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR ¥, TG 3feef = 1954 H FicRad 9e o TIe o o Yeras 9 &1 i ot

1. Ul el
2. 9 Bl
3. T faemH

4. 5 [34TH

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307220276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following US President survived the American Congress impeachment
proceedings by a single vote in 18687

1. Andrew Johnson
2. Abraham Linchon
3. James Madison

4. Woodrow Wilson

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307220276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

?ﬁaﬁf@ﬂﬁﬁﬂﬁwmmsﬁaﬂﬁaﬂm%ﬁi@ﬂmﬁﬁﬁﬁ

1. TSy &I
2. 3siTgH feidd
3, R HfSH
4. 953 e

Options:
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307220277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who was the Speaker of the Lok-Sabha during Janata Party regime?

1. Baliram Bhagat

(i)

. K. D. Hedge
3. Bal Ram Jakhar
4. Shivraj Patil

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307220277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST UTe] & R & QR AlaHT BT 308 I T 2
1. SfeRTH YiTd

I U

3. 90 IH SRS

4. 19 Urfed

Options :
1.1
2.2
3.3
4.4

(g

Question Number : 75 Question Id : 53307220278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who coined the term ‘Deep Ecology’?

l. Arne Naess

(i)

. Carolyn Merchant

(el

. Rachel Carson
4. Murray Bookehin

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307220278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST IPIdrel (g1 UIRFRIAPT) s P WIS fba- b 2
1. 3 Y
2. PIfeH Tde
3. Yelcl DI
4. R Ibfe

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307220279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who gave the notion of ‘Radical Humanism’?

1. Mahatma Gandhi

(i)

. Raja Rammohan Roy
3. Swami Vivekananda
4. M. N. Roy

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307220279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

39 HH4IG & YR [ g 2
 HeTeHT T

==

(g

TSl IHATR ™

[

3. Wt fadarHg

4. UH. U409

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307220280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following organisation won the Nobel Peace Prize in 20177

1. The International Campaign to abolish nuclear weapons.

1]

. The International Campaign to counter-terrorism.

fhd

. The International Campaign to safeguard environment.
4. The International Campaign to protect women and children.

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307220280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ARG & 9 {9 W16 4 2017 BT e 2ifd TREBR Sildl 2
1. & SeARMd $HH ¢ UEIfaR YladsR auy

& ST S € B eR - RRSH
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4. 1& SeAAA S ¢ Uidae di8 Us e

Options :
1.1
2.2
3.3
4.4

(g

(s

Question Number : 78 Question Id : 53307220281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who proposed the ideas of “Pitribhw’ (fatherland) and “Punybhu’ (holyland) in the classical text
on the ideology of Hindutva?

1. M. N. Roy
2. Jai Prakash Narayan
3. Vinayak Damodar Savarkar

4. Mahatma Gandhi

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307220281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e g o1 foraReRT o TRl %l 1 gy (BIERels) 3R QoY (@eflels)  faaRd
I T fobdl 2

|.TA. TG
2. S T AR

3. 0T SHIGR YRR

4. FRTHT Tt
Options :
1.1
2.2

3.3
4.4

Question Number : 79 Question Id : 53307220282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who proposed the *Chaukhamba Model” of decentralization?

1. Ram Manohar Lohia

(i)

. Jayaprakash Narayan

(el

. Jawaharlal Nehru

4. B. R. Ambedkar
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307220282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[0l & IRAHE HISd" &l g+ UdIiad fhdr 2
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ST UDIRT ARTYY

[

[

REIRGIRERS

4. 91, 3R, ISP

Options :
1.1
2.2
3.3
4.4

(el

Question Number : 80 Question Id : 53307220283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In which year, Jotiba Phule started a girl's school at Poona?

1. 1850

(i)

BBl

4, 1852
Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307220283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fbg g9 § Sfddl God 3 G | diicidT e & YS3M1d 6 2

1. 1850

g

. 1851
3. 1950
4. 1852

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307220284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who set up the “Bahishkrit Hitakarini Sabha’ in 19247

1. V. D. Savarkar

(i)

. Dada Bhai Naoroji
3. B. R. Ambedkar

4. Mahatma Gandhi
Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307220284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1924 T -dfgsdhd GdRIRUl QU &I RITGT fHT &1 2
L. dl. 31, g

. GTaT 4TS RIS

3. 1. 3R, 3SR

4. HETHT 7T

[k

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307220285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who stated-

*Sri Aurobindo has appropriated Hegel’s notion of an Absolute Spirit and employed it to radically

restructure the architectonic framework of the ancient Hindu Vedanta system in contemporary
terms?

1. Mahatma Gandhi
2. Rabindranath Tagore
3. Swami Vivekananda

4. Steve Odin

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307220285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oG gl 2
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(S 0a1d Tgid & QI - a9 1 g1 bl St Qe o forg faiford fama -

1. FETe e
2, Tl SR
3, T fadapric
4. K1 A3

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307220286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In which year, Swami Vivekananda founded the periodical ‘Brahmayadin’ to teach the Vedanta?

1. 1895
2. 1897
3. 1890

4. 1901
Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307220286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

{0 ot o el fadepreic - defd & fieor o fofy srgaci siafeic uficer @l Tead ol 2
1. 1895
2. 1897

3. 1890

4. 1901

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307220287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which Naga queen responded to the call of Mahatma Gandhi and raised the banner of revolt
against the British rule?

1. Kanaklata Baruah
2. Rani Gaidilieu
3. Chandraprava Saikaini

4. Lalnu Ropuiliani

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307220287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

{71 XA A HgTeT el o ST TR Uffoha 21 3 feife s I o faiy | b
el qele fdar

L. DIefdl d23{Tg

2. T e

3, FGUHT G|

4. ] A el

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307220288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who was the President of the Parliament of the World's Religions at Chicago in which Swami
Vivekananda delivered his famous address?

1. Woodrow Wilson
2. Paul Deusen
3. John Henry Barrows

4, Leo Tolstoy

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307220288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ¥ 3 fay o w0 & rene i 2 o sl fadar = 3 wRig Sgied foar

1. gev fdeaH

2. il S
3. A g RIS

4. o elgerg

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307220289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In which year, Visvabharti was established by Rabindranath Tagore?

1.1918

(i)

. 1920

(el

1919

4. 1922
Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307220289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<A1y TR A (3% YR &1 =9 {69 9y &l 2

1. 1918

g

. 1920

5]

. 1919
4. 1922

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307220290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who wrote the book ** Democracy, Bureaucracy and Hypocrisy™?

1. Fred Riggs

(i)

. Dwight Waldoo

(el

. Renin Likert

4. Abraham Maslow
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307220290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“SHIh !, SIRIh T 2R ggulfchi T fha ford 2
1. s /g

2. Zdls S dlca]
3. X[ dlshe
4. 3STgH HEAl

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 53307220291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In which year, Planning Commission was converted into “Niti Ayog’?

12013

[-2

2015
3.2017

4.2016
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 53307220291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST AR B <ifd 21T H Hd daal -1 2

1.2013

o]

. 2015
3: 2017
4. 2016

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307220292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



After Jawaharlal Nehru, which one of the following leader became Prime Minister of India third
time in row after completing two full tenures?

1. Indira Gandhi
2. Dr. Manmohan Singh
3. Narendra Mod!

4, Morarji Desai

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307220292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGN 5% o oG, TeIida 5 9 I 1 el &l IR o brdbet ol {1 el o a1
el R HRd & T

1 et

2. 31 I g
3. g Al

4, ARG GH1S

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307220293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



42nd Constitution Amendment Act was passed in India in-

1. 1974

(i)

1973

(el

. 1976

4. 1979
Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307220293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR | 42 9f Siqur G=me oy uiikd g o -

1. 1974

g

. 1513

5]

. 1976

4. 1979

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307220294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following High Courts with their year of establishment in the chronological order:

A. Manipur

B. Gujarat

C. Madhya Pradesh
D. Rajasthan

E. Sikkim

Choose the correct answer from the options given below:
1.LAB,CDE
2.D,B,A,C.E
3.E.ABCD
4.D,C.B.E.A

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307220294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafRad 3= el &l 3! RITHT & BHIHH H AR 1|

A. AR
B. ToRTd
C. A9 el

D. I
E. fufdmA

id feu U fadedl § 9 F8T IR &1 99 BT

1.A,B,C,D.E

2.D,B,A,C,E
3.E,A,B,C,D

4.D,C,B,E, A



Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307220295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events in the chronological order:

A. Non Cooperation Movement

B. Civil Disobedience Movement

C. 'Purna Swaraj' accepted as Congress goal at the Lahore Congress

D. Champaran Movement

E. Peasant Movements in Kheda (Gujarat) and Worker's Movement in Ahmedabad

Choose the correct answer from the options given below:
.B,D,AE.C
2.A,B,C,D,E
3 EDAEBC
1. DEACE

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307220295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



afeiRad o3l Bl BIAH IS $U Y Halyd b1

A. I 3AT<IeH
B. GId=T 3{al 3ficic

C. AIER e § 19 gRT YUl RIS &1 6969 T 1 WIhR fhar
D. 9URU

E. G3[ (ToRTd) § PG Ml 3R SgHGIEIG H 4T Sfr<iaH
Hid feu U fadetl # Y §aT IR & 98 DI

1.B, D, AE, C

2. A B CIDE
3. EDABC

4. D.EACB

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307220296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the Acts related to implementation of Directive Principle of State Policy in the
chronological order:

A. The Bonded Labour System Abolition Act

B. The Child Labour Prohibition and Regulation Act
C. The Trade Unions Act

D. The Minimum Wages Act

E. The Mines Act

Choose the correct answer from the options given below:

A B CDE
2.CE.D;BA
3.B,EDCA

4.C,D,E,A B



Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307220296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o it & Frérep Rl o o e § il st o el w0 H ety
G

A, ST TG YOI S Sifufam

B. ST 4 Wi 3R fafga stfaad

C. S Y

D. AdH Aelg sifefam
E. T g

rd fou T fadhedl 7 ¥ &g TR @1 95 Bifolt:

1.A,B,C.D,E

2.C,E,D,B,A
LEBEDCA

4.C.D,EAB

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 53307220297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Indian Constitutional Amendments in the chronological order:

A. Amendment in the Preamble and addition of ‘unity and integrity of the nation’.
B. Maithili added as a language in the 8th Schedule of the Indian Constitution.

C. Konkani added as a language in the 8th Schedule of the Indian Constitution.
D. The Co-operative Societies inserted as Art.243 ZH

E. Women Reservation Act.

Choose the correct answer from the options given below:

1.A,B,C.D,E
2.B,C,AE,D
3.C.D.E.B,A
4.A,C,B,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 53307220297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffeRad YR Gia4™i &1 SIadsie 9 1 Haid o3|

A. TS H TR Y P Bl Thdl 3IR 2RESdT DI SISl

B. URA1G IiqeTH of sdt 39l 1§ el & 9 o Afded o Sis-T
C. YR Sfae &1 sdf ST § HIN & 3 H DIl Bl Sie-l
D. 3¢ 243 ZH & ¥U H YgbRI GAfaal ol Siisr

E. Afgdl 3Reo sffafag

HId fau U fadhetl H U @gT IR &l 99 DIl

1.A,B.C,D.E

I3

B, C.AED
3. CD.E B A

4.8 C/B,BLE



Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307220298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following languages conferred with classical language status by Govenment of India
in the chronological order:

A. Kannada
B. Odia

C. Tamil

D. Sanskrit

E. Malayalam

Choose the correct answer from the options given below:

l.LE,D,C,B,A
2.D,C,AE,B
3.C,D,AJEB

4B,ADEC

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307220298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fciad {3 61 YR TR GRI AR HIW & $U H &l & o DITHAER
GIGINIRETY

A fGu U fadedl § U W8T IR 1 90 BIC:

I.LE,D,C,B.A
2.D,C,AE.B
3.CD.AEB

4.B,A,D,E,C

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307220299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Cases related to Indian Constitution in the chronological order:

A. The Golknath Case

B. The Kesavananda Bharati Case
C. The Minerva Mills Case

D. The A. K. Gopalan Case

E. The Indra Sawhney Case

Choose the correct answer from the options given below:
l.A,B.C,D.E
2 DABCE
3. E;AB.D.C
4 EE€DBA

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307220299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR Gfay T gr&fed fFafiiad 9l &l Srersd I ogafeyd 1|

A, TASHIY HY

B. HYAMHG YRl &Y
C. TRal i o9
D. U &, TYled &Y

E. 3fe1 A1 H 4
id feu U fadedl § 9 F8T IR &1 99 BT

1.A,B,C,D.E

2.D,A,B,C,E
3.E,A,B,D,C

4. E.C.D.B.A



Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307220300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Political Parties (as per their year of formation) in the chronological order:

A, Janata Dal (U)

B. All India Trinamool Congress
C. Telugu Desam Party

D. Asom Gana Parishad

E. Dravida Munnetra Kazhagam

Choose the correct answer from the options given below:
1.A,B,C,D.E
2.B,E,C,D,A
3ECD,BA
1. D,A,B.CE

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307220300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FAIRAd ITAD <l (184 & av) DI BIeHH H AT B |

A.vHdT gl (Y)
B. maﬁ%mqu GADRY

i feu U fasedl # ¥ ggT IO &1 99 BIfoIU:

1.A,B,C,D,E

I3

.B.E,C.D;A

L

.E,C,D,B,A

4. D, A, B, C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307220301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Treaties and Agreements in the chronological order:

A. India and Bangladesh signed the Farakka Treaty for sharing of the Ganga water.

B. India and Pakistan signed the Shimla Agreement.

C. India and Pakistan signed the Indus Water Treaty.

D. Prime Minister Atal Bihari Vajpayee under took bus journey to Lahore and signed a
declaration.

E. India and Pakistan signed the Tushkant Agreement.

Choose the correct answer from the options given below:

A B CDE
ZAGERAD
3.CBAED

4.EC,B,AD



Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307220301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FgfcRad Sl 3R S Sl Preidd 1 e &Y

A, MR 3R TG = T & Sl & sed o ol BRad] 91 IR gfieR [y,

B, HIXd 3R UTich e o Rl Tl IR gaer iy

C. YR SR Ui o ] o R geler fb,

D. WTHHAT 3fed fagR aroudl 3 TeR 90 &1 99 IR B 3R 99 R gwier by,
E. YRd R UTich&IH A 12 G | gIer by

i feu u fadedl 0 G 7eT TR @1 9 B
1.A,B,C,D.E
2.C,E.B.A.D
3.C.B.AED

4 E.C.B,AD
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307220302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following books in the chronological order (years of first publication)

A. The End of History and the Last Man
B. Man, the State and War

C. Politics Among Nations: The Struggle for Power and Peace
D. The Second Sex

E. The Clash of Civilisations and the Remaking of World Order

Choose the correct answer from the options given below:

1.C,B,D,A,E
2.C,D,B,E,A
3.A,B.C.D.E
4.D,C,B,E,A

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307220302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAfRad Q! &1 BIAHSHT (T3 YhT=H ST 9Y) § diyd S|

A. T U8 3T gl U & ae 74

B. i1, G XU dR

C. Ulfdfead Thi 43 : & ¥Id BR U TS UY

D. G YU Yy

E. G 3%l 31 FfdageeH Us & JHfh 3 des 3Hiex

Hid feu e famedi ©§ 9 8T IR 1 994 BT

1.C. 8B, D, AE

26D, B, EA
A, B IC.DE

4. D, C.B.E A



Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307220303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Prime Minister of India in the chronological order as per their tenure:

A. Chandra Shekhar

B. H. D. Deve Gowda

C. Vishwanath Pratap Singh
D. Charan Singh

E. Morarji Desal

Choose the correct answer from the options given below:
.E,D,A,B,C
2 E:D:CAB
3.48,B,C,D.F
4.E,C,D,B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307220303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(R YR GHA D 3 BB & SR BIhH § oHdiedd &

A 95 IR

B. Td. 3. ¢aTiial
c. T3y e Rig
D, I {8

E. ARG Ty

H1d feU T fadedl § Y gt SR &1 9 BIIe:

LE; DA, B, C

2.E.D,C,A.B
3.A,B,C,D,E

4.E.C.D,B.A

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307220304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Speakers of the Lok-Sabha as per their tenure in the chronological order:

A. Ganesh Vasudev Mavalankar
B.P. A Sangma
C. Om Birla
D. Neelam Sanjiva Reddy
E. Ms. Meira Kumar
Choose the correct answer from the options given below:
l.AB,C.D.E
2.4 B B.E.C
3.E.AB.C.D

4.D,A,B,E,C



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307220304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[RfciRad TdauT el &l 31 BRIBT B YR DIalhH T Haferd 3|

NI LU G 3 G R | GG G
B. Ul T 9T

c. 3 fasa

NG IGLEEICEE]

E. 941 HRI AR

14 fSu MU fadedl # ¥ a7 IR & 94 HIIE:

1. A,B,C,D.E

2ADBEC
3.ELAB,C,D

4.D,A,B,E,C
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307220305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following designated SAARC vears in the chronological order:

A. SAARC vyear of the Youth

B. SAARC vear of Girl-Child

C. SAARC vear of Environment

D. SAARC vyear of Disabled Persons

E. SAARC vear of Poverty Eradication

Choose the correct answer from the options given below:

1. B.DCE &
2LCADEB
3.B,C;D.AE
4.A,B,C.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307220305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaiRad I1ftd 9id aui &l SIei-hd § Aaieyd oY |

A. 9Ih 3R 31 & gy

B. Ul SR 3 7 - dI5cs

C. gId SR 3B T-gyHHe

D. UI$ 3R 3P feudes =g
E. Ul 3R 31 Ulad] e by

i feu MU fadhedl © O gat 3R &l 994 SHifoie:

1.B, D, G E A

(]

CADEB

[F¥]

.B,C,D.AE

4.8: B, B E



Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307220306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events related to United Nations in the chronological order:

A. UN peace keepers sent to Cyprus.

B. UN Peace Keeping Commission was established.

C. First UN Peace Keeping Force sent to the Suez Canal.

D. General Assembly adopts the Sustainable Development Goals (SDGs).
E. UN High Commissioner for Refugees (UNHCR) established.

Choose the correct answer from the options given below:
LED € B A
2.B.D.A.E.C
AECABD
4.CADER

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307220306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YIS =G U Yeifed FgfaRad ge-ms & Hra-sd ¥ aafed &1

A. JU i & FIZUY 49 U]

B. JUA YifaR&® g1 I RITTT|

C. Ugdl guH MM~R&D §¢f ol 78 Ul 747 |

D. HETHT - dd fdbry dedl (TasTsi) o aitfigd fobar|
E. U 15 HHITH BR REgS (JUATTE! $R) Bl RITHAI|

A flGu U fadhedl # O @81 3T &1 994 DI

1 E; B, B A

2.B,D.AE,C
3.E,C,A,B,D

4. C.A,D.E.B

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307220307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the UN Secretary- General as per their tenures in the chronological order:

A. Boutros Boutros- Ghali
B. Ban- Ki-Moon

C. U Thant

D. Kofi A. Annan

E. Kurt Waldheim

Choose the correct answer from the options given below:

1L.EAEBD
A BEDUE
30 EA DB

4. EB.C.D.A



Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307220307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U UgMal &l 39d HRIDIA D DIehH H HIRRId Bi|
A. mm BIN]|

B. § - &I - I
Cc.gufe

D. BBl T 3FH
E. d deaold]

Hid feu U fqdedi § U ol IR &1 99 I

L A BB B

[

BB C.ILE

(5]

A E LD B

4. E.B.C, DA
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307220308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Commissions of India as per their year of formation in the chronological
order:

A. National Commussion for Minorities

B. National Commission for Schedule Castes

C. Central Information Commission

D. National Commission for Protection of Child Rights
E. National Commission for Women

Choose the correct answer from the options given below:
I.E.A,B,C.D
2.E,B.A,D.C
3.4,B,C,D,E

4.C,B,A,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307220308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URA & ERIT ST &l Fdh 716 & 9Y & 38R SIhd 1 Haield &
A, BT e ST
B. BT ST i ST
C. H-410 YT 3T
D. P14 Tl YR TRET T
E. BT Afga S

1 feu U fadedl § 9 @a1 IR &l 994 Dift:
I.E.AB.C.D
2.E,B,A,D,C
JABCDE

4.C,B,A,D.E



Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307220309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify the correct statements-

A. Eightth SAARC Summit held at New Delhi in 1995.

B. 1989 was designated as SAARC year of Combating Drug Abuse and Drug Trafficking.

C. There was an assassination attempt on US President- Barack Obama while he was in office.
D. Bilawal Bhutto Zardari became Prime Minister of Pakistan in March. 2024,

E. The Agreement on SAARC Preferential Trading Arrangement was signed on 11 April,
1993.

Choose the correct answer from the options given below:
I.A. B, COnly
2.B,C,D Only
3. Cand D Only

4. A, Band E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307220309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tl Hl &1 UgdH B
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e fCU U foedl 9 W) IR @1 90 BT
. $d A, B, C
). HddB, C,D
3,40 C 3D
4, %ac A, B3N E

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307220310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct statements:

A. A consensus on poverty eradication was adopted at the Seventh SAARC Summit
B. Giuseppe Mazzini wrote the book *On Nationality’.
C. V. D. Savarkar did not establish the Abhinav Bharat Society.

D. Jurgen Habermas is the leading exponent of the *Second Generation” of the Frankfurt
School.

E. India adopted planning process from United States of America.

Choose the correct answer from the options given below:

[.B,.C,D,E Only
2. C, E Only
3.A.B.D Ounly

4.A,B,C,D Ouly

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307220310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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|.$ddB,CD,E

2. HIdC.E
3. BdAA.B.D
4. PAAA.B.C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307220311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the incorrect statements-

A. Jacques Derrida wrote the book *Specters of Marx’.
B. Deendayal Upadhyay opposed the idea of Integral Humanism.

C. Federalism was borrowed by the framers of Indian Constitution from British Constitution.
D. Asif Ali Zardari is the President of Pakistan,

E. Panchayati Raj system in India provided 45% reservation for women.

Choose the correct answer from the options given below:

I.A,B,C.D Only
2.B,C,D.E Only
3.B,C,E Only

4.A,B,C,D,E



Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307220311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hid feu U fadetl § 9§ woT SR &1 99 BifoC:
|.hdd A, B, C,D

2. HddB.C.D.E
3. HddB.C.E

4. A, B, C,DLE

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307220312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Choose the correct statements-

A. UN declared 1975 as International Women's Year.

B. B N Rau Committee prepared the first draft of the Hindu Code Bill.
C. Kabir was a social reformer in ancient India.

D. Sunderlal Bahuguna became popular in the Chipko-agitation.

E. Subhash Chandra Bose formed Independent Labour Party in 1936.

Choose the correct answer from the options given below:

1.A, B, C,D Only

I3

:B, C, E Only

Tl

. A, B, D Only
4. AB,C,D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307220312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307220313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements regarding administrative ideas:

A. Fred Riggs advocated the sala model of administration.

B. Abraham Maslow advanced the idea of hierarchy of needs.

C. Chester Barnard advanced the idea of Hawthorne effect.

D. Max Weber gave the idea of legal-rational authority.

E. Luther Gulick and Lyndall Urwick are associated with the concept of POSDCORB.

Choose the correct answer from the options given below:
1. A, B, C,E Only
2.B,C,E Only
3.A,B.D,E Only
4. AB,C.DE

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307220313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4 S T [ad el 7 U 8T 3R &1 994 IS
|.®Hdd A, B.C.E
2. HAddB.C.E

3. HddA.B.D.E

4. 4B. C.HRE

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307220314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fred Riggs developed ideal models to analyse the administrative systems of different countries.
Choose the correct ones from the following.

A. Fused

B. Focussed

C. Prismatic
D. Rainbow

E. Diffracted

Choose the correct answer from the options given below:

[.A,B.,COnly
2.A.B,C,D Only
3.A,C,EOnly

4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307220314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307220315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Gabriel Almond classified the Pressure group into different categories. Find the correct ones-

A. Associational groups

B. Non-associational groups
C. Institutional groups

D. Anomic groups

E. Non-anomic groups

Choose the correct answer from the options given below:
I.A B.E Only
2.A,B,C,E Only
3.A,C,D,E Only
4.A,B,C,D Ounly

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307220315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307220316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct statements regarding Comparative Politics.

A. In traditional approach, emphasis is on value-laden study of politics.
B. Behavioural approach is one of the important traditional approach.
C. David Easton is one of the leading theorist of Behaviouralism.

D. David Easton's input-output analysis has three main variables in the form of demands,
supports and feedbacks.

E. 'Political assasination is one of the important positive indices of political development.
Choose the correct answer from the options given below:

I.B, C.E Only
2.4,B.CBE
3.A,B,C,DOnly

4.A,.C,D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307220316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2.A,B,C,D,E

3. 90 A.B.C.D
4. H9AA.C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307220317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Find out the correct statements from the following-

A. NITT Aayog like Planning Commission was also created by an executive resolution of the
Government of India.

B. The Consumer Protection Act, 2023 has repealed and replaced the earlier Consumer
Protection Act,1986

C. The earliest democratic institution in the world for the redressal of citizen's grievance is the
Russian institution of Ombudsman.

D. The First Administrative Reforms Commission (ARC) of India recommended the setting up
of Lokpal and Loakyukta.

E. The First ARC of India was headed by Morarji Desal.
Choose the correct answer from the options given below:

[.A, B, C, E Only

2.A,C,D,E Only

3.A,D,EOnly

4.B.C.D,E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307220317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307220318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Choose the correct statements regarding political theorists-

A. Mary Wollstonecraft emphasized the equal rights of women.

B. Hannah Arendt examined the nature of both Nazism and Stalinism in ‘The Origins of
Totalitarianism’.

C. Antonio Gramsel wrote the famous book *On People’s Democratic Dictatorship'.

D. Franz Fanon wrote the famous book ‘Black Skin White Masks’.

E. In his famous book, ‘Politics among Nations’, Aristotle advocated a system of mixed
government.

Choose the correct answer from the options given below:
1.4 B, C.D;E
2.A,B.C,E Only
3.B,C,D Only
4.A,B.D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307220318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1
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Question Number : 116 Question Id : 53307220319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Consider the following statements regarding judicial system and choose the correct answer-

A. Supreme Court of Canada has three judges from the province of Quebec to ensure ethnic and
religious balance.

B. Some judges of the Federal Constitutional Court of Germany are elected by the Bundestag
and Bundesrat.

C. In United States, the judges are nominated by the House of Lords and ratified by the Senate.

D. US Constitution of 1787 did not explicitly provide for judicial review.

E. The power of judicial review originated in India in the leading case of Marbury V.
Madison.

Choose the correct answer from the options given below:

1.A,B.C,DOnly
2.B,C,D,E Ounly
3.A,B,D Only

4.A,C,D,E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307220319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307220320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Choose the correct statements regarding elite theory:

A. Robert Dahl advocated the Concept of polyrchial democracy.

B. John Plamenatz argued that if the will of the people is a myth, then ‘will of the minority’
also belongs to the same category.

C. Gaetano Mosca advocated the idea of elite theory in his classical work “The Political
Partles’.

D. Robert Michels advocated the idea of ‘Iron law of Oligarchy’.

E. C Right Mills advocated his idea of elite power in his book ‘The Managerial Revolution’.

Choose the correct answer from the options given below:
I.A B, COnly
2.A,B.D Only
3.A,B.C,DOnly

4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307220320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 118 Question Id : 53307220321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the correct statements-

A. Chinese Communist Party (CCP) is an example of a cadre based party.

B. Otto Kirchheimer argues for a category of ‘catch-all parties’.

C. O. Kirchheimer puts the US Republican and Democratic parties in the category of catch-all
parties.

D. Anthony Downs portray politicians as power-seeking creatures who “are willing” to adopt
"whatever’ policies are likely to bring them electoral success.

E. Thomas Jefferson was the principal author of UK Declaration of freedom.

Choose the correct answer from the options given below:
1.A.B,C,E Only
2.B.C, D, E Only
3.A,B,C,D Only
4.A B,C.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 53307220321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 119 Question Id : 53307220322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Choose the correct statements regarding political ideas-

A. John Locke championed the cause of constitutional government.

B. Montesquieu proposed a system of checks and balances in the form of separation of powers
which became the important feature of British Constitution.

C. Jeremy Bentham developed his idea of utilitarianism.

D. I. S. Mill argued for broadening of popular participation with inclusion of women.

E. Thomas Hobbes discussed the grounds of political obligation in his classical work
‘Philosophy of Right",

Choose the correct answer from the options given below:
1.B.C,D, E Only
2.A,C,D Only
3.A,B,E Only
4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307220322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 120 Question Id : 53307220323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Consider the following correct statements-

A. Anthony Smith wrote the book ‘The Ethnic Origins of Nations’.
B. Ernest Gellner emphasised his idea of nationalism in book ‘Nations and Nationalism.”
C. Malcom X argued for rediscovery of Africa as a spiritual and cultural homeland.

D. John Loke's idea of General Will was the seed from which nationalist doctrines sprang
during the French Revolution of 1789,

E. Eric Hobsbawn highlighted the idea of “invented traditions.’

Choose the correct answer from the options given below:

|.A, B,D,EOnly
2.B, D, E Only
3.A,B,C.DE

4. A, B, C,E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307220323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307220324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct statements regarding Abraham Maslow's need of hierarchy.

A. Esteem needs

B. Self- actualisation
C. Belonging needs
D. Safety needs

E. Entertaining needs

Choose the correct answer from the options given below:
1.A,B,C,E Only
2. C;D, E Only
3.B.D.E Only
4. A, B,C,D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307220324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307220325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the Article 15 of Constitution of India-
The State shall not discriminate against any citizen on grounds only of-

A. Religion

B. Race

C. Caste

D. Sex

E. Place of birth

Choose the correct answer from the options given below:

1. B, C Only
2.A.C,DOnly
3.B, D Only

4. A.B,C.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307220325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 123 Question Id : 53307220326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Read carefully the following statements regarding Fundamental duties in Indian Constitution and
choose the incorrect answer-

A. Fundamental duties were inserted by the 44th Constitution Amendment Act,

B. Parliament cannot amend the fundamental duties.

C. Fundamental duties can be enforced by writs.

D. There are eleven fundamental duties in Article 51A.

E. Promotion of international peace and securities in one of the important fundamental duty.

Choose the correct answer from the options given below:

[.B, C,D Only
2.A.B.C.EOnly
3.B.D,E Ouly

4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307220326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RIS o mifcies daodl & Gra H Ficiad Byl o1 qayigdd U¢ 3R efd
U] T T B

A, FICTD el bl 44 T TIGYT T GRI SIS 17 )

B. UGG HIfeid Hdodl § T Tol & Il |

C. Hifeld dciod! 1 Rel & ATegH Y Yaldd fhdl ofl Gebell g |

D. 3wG 51A H TIRE Hifclh dlod g

E. JIeRIgT i o GRe 51 I U Wgayt Aferds aelod 3|

il fu e fadhed! 4§ FT IR 1 TUH il
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307220327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Choose the incorrect answer related to the Indian Constitution-

A. Provisions related to *All India Services” are mentioned in Article 312.

B. Provisions related to Administrative tribunals are mentioned 1n Article 342A.

C. Provisions related to Inter-State council are mentioned in Article 244,

D. Provisions related to facilities for instruction in mother-tongue at primary stage is not
mentioned in Indian Constitution.

E. Provisions related to languages are mentioned in Article 368,

Choose the correct answer from the options given below:

[. A, B, COnly
2.A,C,D.EOnly
3.B,C,D,E Only

4.A, D, E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307220327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



WA iy 3 T Teld 3R &1 904 $Y |

A, 3f1cl 20T GG G e Wae Sifwie 312 H Sfead gl

B. URITH® ARMGR] G Griitld WIae 3wds 342 A H Sfcaida g

C. eRIsHg URYG Y el Y 3FwyE 244 H e ¢

D. TTAdh &R OR TGS fRre0r &l ot § i yraer YRd digyr o
Sicaed el ¢

E. MTT3H1 § Yaife Wae affasg 368 H Sfciad g

i feu T fdeut § 9 #pt SR BT TG BT

. Hdd A, B, C

2. HAAA, C, D, E

3.%dd B, C,D,E

4 HITA.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307220328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Choose the correct statements regarding Constitution of India-

A. The Governor is appointed by the Prime Minister.

B. The Attorney general is appointed by the President.

C. The Chairman of UPSC is appointed by the President.

D. The Judges of the Supreme Court are appointed by the President.
E. The Judges of the High Court are appointed by the Governor.

Choose the correct answer from the options given below:

1.B.C,D, E Only

I3

.B, C,D Only

T

.C, D, E Only
4. A,B,D, E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307220328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR gy & <H | Ug! Syl &1 999 B

A. TSUTd D1 YT §RT gad a1 Srarg|

B. 3l SRd DI APUd gRT Hgad fbar Sar g |

C. gUiTadl & 3eef &I yufd gRT gdd far S g

D. i e & TR &l IPUfd gRT e f6ar i g
E. 3 UA1ad & AR ol Isaurd gRI Hgdd {6ar Sirdr g

- feU T fadedl 7 ¥ HpT SR &l 997 DIfSTE:
1.$hdd B, C.D. E
2. $HIAB.C.D
3.$adC.D.E
4. A A, B,D. E




Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307220329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LIST1I LISTII
Secretary General of SAARC Tenures
A | Abul Ahsan I. |Januarv 16, 1987- October 15, 1989
B. | Yadav Kant Silwal II. |Januwary 1, 1994- December 31, 1993
C. |Nacem U. Hasan [II. | January 1, 1996- December 31, 1998
D. | Sheel Kant Sharma IV. |March 1, 2008- February 28, 2011

Choose the correct answer from the options given below:
1. A-IV, B-IIL, C-II, D-I
2. A-1, B-II, C-III, D-IV
3. A-IIIL, B-1, C-II, D-IV
4. A-11, B-IV, C-1II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307220329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1$ 1Y AT 1 6T e Hifou)

a3 50k vt

IT?F'I'\'?I
3 U I |SHad 16, 1997- 3fACER 15, 1989
Uled &I fadard | 1L |[S9ad) 1. 1994- fGT 31, 1995
A I |SHadT 1, 1996- fETFR 31, 1998
i &a Tl V. |9 1, 2008 - BRaR 28, 2011

4 fau U fasedl § O et 3R &1 994 Hif:

1. A-IV, B-III, C-II, D-I

olafw|»

[

.A-L, B-IL, C-1IL D-IV

L]

. A-IIL B-1, C-IL, D-IV

4. A-11, B-1V, C-III, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307220330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Books Aunthors

Government by Committee | 1. | W H Morris Jones

Parliament in India II. |Ramsey Mur

How Britain 1s Governed IT1. | K C Wheare

olo|w|»

Musolini's Italy IV. |Herman Finer

Choose the correct answer from the options given below:
1. A-I, B-II, C-1IV, D-1I
2. A-I1, B-1V, C-II1, D-1
3. A-IIL B-1. C-II, D-IV
4. A-IV. B-11, C-1. D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307220330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1$ 1Y AT 1 6T e Hifou)
a1 T I
J&ds

Tee TR Ad | I |S%g = ARG 6
Uifciarde g gftsgr | I |IMA R

B& fgcagaTaqs | 1L (& @1 g

e gea V. [ TR

4 fau U fasedl § O et 3R &1 994 Hif:

1. A-I, B-III, C-IV, D-II

ola|w|»

2. A-IL, B-IV, C-III D-I
3. A-IIL B-L, C-II, D-IV

4. A-IV, B-11, C-I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307220331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Legislatures Country
A |House of Eepresentatives | I | United States of America
B. |National Assembly II. |Pakistan
C. |House of Commons III. | United Kingdom
D. |Knesset IV. |Israel

Choose the correct answer from the options given below:
1. A-IV, B-IIL, C-I, D-II
2. A-11, B-1, C-1V, D-IIT
3. A-L, B-II, C-III, D-IV
4. A-1I, B-I, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307220331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1$ 1Y AT 1 6T e Hifou)

ﬁI | T I
g
A |TRY G WS | L |gARes Wl HIh SHR®!
B. |H=FT el 1. | orfeream
C. | 5134 3% BrHY 1. |gATscs fdhiTeH
D. |49 IV. | goRmEd
i feu U fam el § U Hel IR &l 999 BT

1. A-IV, B-III, C-1, D-II
2. A-11, B-1, C-1V, D-111
3. A1, B-II, C-1II, D-1IV

4. A-11, B-1, C-III, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307220332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-I1

LISTI LISTII
Authors Books
A |David Apter [. | Comparative Politics: A Developmental Approach
B. | Walter Bagehot II. | An Introduction to Comparative Government
C. | Jean Blondel III. | English Constitution
D. | Almond and Powell | IV. | The Politics of Modernisation

Choose the correct answer from the options given below:
1. A-I, B-II, C-IIL D-IV
2. A-1I, B-1, C-1V, D-IIT
3. A-IIL, B-IV, C-1, D-II
4. A-IV, B-1II. C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307220332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1$ 1Y AT 1 6T e Hifou)

R
EiCERU 1 |PHRieq Ulfeies : 3 SduHe S
gl doele | 11 | U9 Soi8aeH € HHNied Ta-de
ol &ied 1L | ST DI~ Ie=H
HES AR UlET | IV, | T Uifcieas ofi s Higqis o

4 fau U fasedl § O et 3R &1 994 Hif:

1. A-I, B-II, C-III, D-IV

I I
TP

ola|w]|»

[

-A-IL B-1, C-IV, D-III

L]

. A-IIL B-IV, C-1, D-1I

4. A-IV, B-1II, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307220333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Regional Organisation Establishment Year
A | North American Free Trade Agreement| 1. |1991
B. | Asia Pacific Economic Cooperation II. |1994
C. |Mercosur Il | 1993
D. |Free Trade Area of Americas IV. |1989

Choose the correct answer from the options given below:
1. A-IV, B-II, C-III, D-I
2. A-IIL, B-IV, C-I, D-II
3. A-L, B-II, C-III, D-IV
4. A-11, B-I, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307220333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1$ 1Y AT 1 6T e Hifou)

A |F1 3R 11 T8 TR I [1991
B. |uf¥mar tfifthes S-S ®IHUIRE | 1L | 1994
C. |HdigR I | 1993
D. | ¢ Ul 31 © HREG™ V. | 1989
i feu U [9h el @ 9 gt SR &1 98- BT

1. A-IV, B-1I, C-III, D-I
2. A-IIL B-1IV, C-1, D-TI
3. A1, B-II, C-1II, D-1IV

4. A-I1, B-1, C-1IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307220334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Creation of States | Years of Creation
A | Jharkhand I |2014
B. |Telengana II. | 1987
C. |Goa ITT. | 2000
D. |5ikkim IV. | 1975

Choose the correct answer from the options given below:
1. A-II. B-TII, C-IV, D-I
2. A-II, B-1, C-1I, D-IV
3. A-IV. B-1I, C-I, D-III
4. A-1, B-1I, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307220334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1$ 1Y AT 1 6T e Hifou)

.. w1
A |3RETS 1. |2014
B. |daTm IL |1987
C. |mman I11. | 2000
D. | f&fg®H IV. | 1975
i feu U fam el § U Hel IR &l 999 BT

1. A-II. B-III, C-IV, D-I
2. A-1II, B-1, C-1I, D-IV
3. A-IV, B-1I, C-1, D-III

4. A-1, B-11, C-III, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307220335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Statewise membership in the Constitutional Assembly | As on 31 December 1947
A | Madras I |21
B. |Bombay II. |49
C. | West Bengal L. |35
D. |United Province IV. 19

Choose the correct answer from the options given below:
1. A-IL, B-1, C-1V, D-III
2. A-IIT, B-1IV, C-1, D-II
3. A-IV, B-IIL, C-I1, D-I
4. A-I, B-IV, C-III, D-TI

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307220335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1$ 1Y AT 1 6T e Hifou)

FauTs Ty ;mnmm 31mﬂrl%ﬁwm
A |9EN L |21
B |ai= 1L |49
C. |ufgm §ma 1L |55
D. |Hgd Ui (G5 c S Hifdw) Iv. |19

4 fau U fasedl § O et 3R &1 994 Hif:

1. A-II, B-I, C-IV, D-III

[

- A-IIL B-IV, C-1, D-TI

L]

. A-1V, B-III, C-1I, D-1

4. A-1, B-1V, C-III, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307220336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Number of Women elected in Lok Sabha | Parliamentary Elections
A |22 [. |Seventh (1980)
B |28 II. |Fafth (1971)
C. |28 11, |Fifteenth (2009)
D |39 IV. | Nineth (1989)

Choose the correct answer from the options given below:
1. A-1, B-III, C-II, D-IV
2. A-11, B-1, C-1V, D-IIT
3. A-IV. B-1I, C-III, D-I
4. A-III, B-IV. C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307220336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1$ 1Y AT 1 6T e Hifou)

Eﬁwmﬁﬁafﬁ?rﬁnl‘%waﬁaﬁm wﬁ%ﬁ

A |22 1 |grdal (1980)

B. |28 II. |diFarl(1971)

c |22 1L | O=gal (2009)

D. |59 IV. [-aTf (1989)
i feu U fam el § U Hel IR &l 999 BT

1. A-I, B-III, C-II, D-IV
2. A-11, B-1, C-1V, D-111
3. A-IV, B-11, C-I1I, D-1

4. A-IIL, B-IV, C-1. D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307220337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LIST1I LISTII

Author Book
A | George Soros I. | The Conscience of a Liberal
B. |Paul Krugman II. |Open Society
C. |Herman Dalwy [II. | Decline of American Power
D. | Immanual Wallerstein | IV. | For the Common Good

Choose the correct answer from the options given below:
1. A-I1, B-1, C-1V, D-III
2. A1, B-II, C-1I1, D-1IV
3. A-IV. B-1II, C-II, D-I
4. A-III, B-IV. C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307220337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1$ 1Y AT 1 6T e Hifou)

A |G IR L | & SI-aue 3 3f e
B. |Uid A 1. |3t SRl
c. |gda e 111 |TSaTs Sih SfHRE e
D. |SH{UA dleREN | IV. |BR & DIF 5

i feu U fam el § U Hel IR &l 999 BT

1. A-II, B-I, C-IV, D-III

[

.A-L, B-IL, C-1IL D-IV

L]

. A-1V, B-III, C-1I, D-1

4. A-IIL, B-IV, C-1. D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307220338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Reginal Organisation Establishment year
A | African Union I |1980
B. |Latin American Integration Association| II. |2003
C. |East Asia Summit III. | 2002
D. |Euvrasian Economic Community IV, 2000

Choose the correct answer from the options given below:
1. A-II. B-TII, C-IV, D-I
2. A-II, B-1, C-1I, D-IV
3. A-L, B-II, C-IV, D-III
4. A-IV. B-11, C-1. D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307220338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1$ 1Y AT 1 6T e Hifou)

L -
A | 3pie gfHaA I |1980
B. |qife 3R SEEH TaifiueM | 1 [2003
C. |3% uRmar gife 0. | 2002
D. | R0 3o MEIHD BT IV. | 2000
i feu U [9h el @ 9 gt SR &1 98- BT

1. A-II. B-III, C-IV, D-I

[

. A-IIL B-1, C-IL D-1IV

L]

.A-L, B-IL, C-1IV, D-1II

4. A-IV, B-11, C-I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307220339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LIST1 LISTII
President's Rules States Tenures
A | Andhra Pradesh I. |306.1981-13.1.1982
B |Assam I |15.12.1992 -3.12.1993
C. |Himachal Pradesh | ITI. | 18.3.2016 - 6.53.2016
D. |Uttarakhand IV. |118.1.73-10.12.1973

Choose the correct answer from the options given below:
1. A-IV, B-1, C-II, D-III
2. A-IIL B-1I. C-1, D-IV
3. A1, B-IV, C-III, D-1I
4. A-1, B-1I, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307220339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1$ 1Y AT 1 6T e Hifou)

A |RITET I |30.6.1981 - 13.1.1982
B. | 3@ 1L |15.12.1992 - 3.12.1993
c. | uew 1. | 18.3.2016 - 6.5.2016
D. |3TRES IV. | 18.01.73 - 10.12.1973
i feu U fam el § U Hel IR &l 999 BT

1. A-IV, B-1, C-II, D-III

[

- A-IIL B-II, C-1, D-IV
3. A-1, B-IV, C-III, D-I

4. A-1, B-11, C-III, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 53307220340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
President of India Tenures
Dy Zakir Hussain I. |25 July 1977 - 25 July 1982

Fakhrudin Ali Ahmed | II. |13 May 1967 - 3 May 1969

Neelam Sanjiva Reddy | III. |25 July 1987 - 25 July 1992

olo|w|»

R. Venkataraman IV. |24 August 1974 - 11 February 1977

Choose the correct answer from the options given below:
1. A-I. B-II, C-III, D-IV
2. A-IV, B-1II, C-II, D-I
3. A-II, B-1IV, C-1, D-III
4. A-II1, B-1, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 53307220340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1$ 1Y AT 1 6T e Hifou)

?TI EII

IR & gl

ST, SR g I |25 9[@Ts 1977 - 25 S[@Ts 1982
BESEH 3T G | 11 |13 T8 1967 - 3 H8 1969
EINEEEICIEE]l 111 |25 S[eTs 1987 - 25 Talls 1992
HR. dheRAU IV. |24 3FTR 1974 - 11 BRa 1977

4 fau U fasedl § O et 3R &1 994 Hif:

1. A-I, B-II, C-III, D-IV

ola|w]|»

[

. A-1V, B-1II, C-1I1, D-1

L]

. A-IIL B-1IV, C-1, D-III

4. A-1I1L, B-1, C-1V, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307220341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTIT

Book Author

A Theory of Justice I. |John Rawls
Philosophy of Right II. | Jurgen Habermas

Towards a Fational Society | IIT. | Viadimir [lvich Lenin

olo|w|»

State and Revolution IV. | Fridrich Hegal

Choose the correct answer from the options given below:
1. A-I. B-II, C-III, D-IV
2. A-IV, B-1II, C-II, D-I
3. A-IIL B-II, C-IV, D-I
4. A-1, B-IV, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307220341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



At 1$ 1Y AT 1 6T e Hifou)

A1 T 11
3 Wi A6 9y I |SHTeE

ra®] 3w Tse 1. | oA gaeEd
238y ¥ EHd Ol | L | sefa iR gieaa ofim
e U8 RargEH IV. | heR® siia

4 fau U fasedl § O et 3R &1 994 Hif:

1. A-I, B-II, C-III, D-IV

olafw]|r

[

. A-1V, B-1II, C-1I1, D-1
3. A-IIL B-1I, C-1IV, D-1

4. A-1. B-1V, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307220342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-I1

LIST1I LISTII
International Human Right Documents Enactment Years
A | Convention Eelating to the Status of Refugees L |1975
B. |Declaration on Torture I |1954
C. | Convention on the Rights of the Child I | 1990
D. | Charter of Fundamental Rights of the European Union | IV, | 2000

Choose the correct answer from the options given below:
1. A-II, B-L, C-IIIL D-IV
2. A-IV, B-III C-1. D-II
3. A-IIL, B-IV, C-I1, D-I
4. A-I, B-II, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307220342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1D 1Y FEl 1 6 {7 Sifou|

T et
A | zRonfal o fRufa § Gefed gered 1 |1975
B. |T7cH1 W giwon - o II. | 1954
C. |a9 PR W T I0I. | 1990
D. | TRITUT gi-g= & Hiftid SRl o1 Jf¥mRYA | IV. | 2000
i fGU T fadhetl | U Tol IR &1 9949 DI

1. A-I1, B-1, C-II1, D-IV

[

. A-IV, B-1II, C-1, D-II

Tad

. A-III, B-1V, C-I1, D-1

4. A-1, B-1I, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307220343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Events of the United Nations Year
A | Trygve Lie appointed Secretary General I. 1964
B. |EKofi Annan appointd Secretary General II. 1950
C. | U. N Peace Keepers sent to Cvprus III. | 1946
D. |U N High Commissioner for Refugees established | IV. | 1997

Choose the correct answer from the options given below:
1. A-IV, B-III. C-II, D-I
2. A-I, B-IV, C-I1, D-III
3. A-1I, B-1, C-IIL, D-1IV
4. A-III, B-IV. C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307220343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1D 1Y FEl 1 6 {7 Sifou|

qaé%sﬁgi{qlaﬁmﬁ q;ﬁ;fu
A |Tewd <l o1 Heraled fFged fear I [1964
B. | @It 3 I Herfd g foar 7 1. 1950
C. |guA ifcRe® Yreuy vl 1Y 1. | 1946
D. |zRONidgl & o U S=ged &1 RIGH1 &1 1T | IV. [ 1997
4 fqu T fasedl & U HEl IR &1 99 BIfST:

1. A-IV, B-III, C-II, D-I

[B]

. A-I, B-IV, C-1I. D-1II

Tad

.A-IIL B-I, C-III, D-IV

4. A-IIL, B-IV, C-1, D-II

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 533072795
Question Shuffling Allowed : No

Question Id : 53307220344 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the following passage and answer the questions-

To a large extent, British India and independent India helped China to re-establish and
consolidate its hold on Tibet, particularly in view of Tibet having enjoyed de-facto independent
status from 1913 to 1951, It must not be forgotten that India fecilitated the Tibetan delegation to
proceed through India Peking to formally accept to be an autonomous part of China, even though
the seventeen-point agreement signed in May 1951 has remained controversial, as something
done under duress. India's large heartedness and its endeavors to befriend China did not end
there. As a gesture of goodwill, the Panchsheel Agreement of 1954 was a classic example of
India's one -sided generosity and diplomatic naivety, one that resulted in its giving away all rights
and privileges and significantly, in ending india's presence in Tibet without the country gaining
anything as a quid pro quo. Although at times, there has been friction on the border issue, the
maturity and statesmanship of the leaders of both nations have ensured that there problems were
resolved In a peaceful manner through dialogue and diplomatic exchange, as has been
demonstrated during the recent stand - off at Doklam.

Sub questions

Question Number : 141 Question Id : 53307220345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage, which one of the following helped China to consolidate its hold on
Tibet?

1. Only British India

2. Only Independent India
3. Both British India and Independent India

4, Only Russia

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307220346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who facilitated the Tibetan delegation to proceed through India to Peking to formally accept to
be an autonomous part of China?

1. Pakistan
2. Bhutan
3. Myanmar

4. British India

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307220347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When was the Seventeen-point Agreement signed?

1. 1950

3

-1y
3. 1955

4. 1954
Options:
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307220348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In which year, Panchsheel Agreement was signed?

1. 1951
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4. 1954
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307220349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage. during which period Tibet enjoyed de-facto independent status?

1. 1913 - 1970

2.1913 - 1951

LS ]

. 1952 - 1960

4. 1960 - 1990
Options :
1.1
2.2
3.3
4.4

Question Id : 53307220344 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Fraferad T o1 ufew ok i fou 7o wsit & T difere -

930 €6 0 9o 4R 3R Tad 4Rd 5 9H 1 fedd W 310! U, famy w0 9 e
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Sub questions

Question Number : 141 Question Id : 53307220345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS o SR, FARfeRd 1 O i i &1 dedd R Uds Toqd B3 1§ 6l 1 2
1. dhdd fafee yRd

). Had W YR
3, T9fe] YR 3R W HRA Gl
4. N =g

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307220346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T Tl HiARHS Pl I 1 U Sl 4T & 1 SiTdiRe WIHHd o &
foTU HIRl T o 1%l 347 Tl g7 s 2

1. T A
2. 4cH

3. AR

4. fofeT R

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307220347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g - fag 31l arel H3Id IR BXI14R & gU?

1. 1950
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. 1Syl
3. 1955
4. 1954

Options:
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307220348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 1954

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307220349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR o SIHR, o raratel 1 fdsad  JRafdd WdAdl & Gul bl A fer?

1. 1913 - 1970

[g]

1913 - 1951
3. 1952 - 1960

4. 1960 - 1990

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072796
Question Shuffling Allowed : No

Question Id : 53307220350 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



Read the following passage and answer the questions-

The campaign for decentralization of authority has a long past. As history shows, sustained
attempts were made to decentralize authority in India since the 1880s with the acceptance of
Rippon resolution of 1882. One of the most clearly- stated justifications for Panchayati Raj
Institutions (PRIs) was given by the report of the Ashok Mehta Committee, Another categorical
statement regarding strengthening of local self-government was made by the report of the 1986 L.
M. Singhvi Committee, Revitalisation of PRIs for Democracy and Development. What was
strongly argued became a reality with the adoption of the 73rd Amendment Act in 1992, which
not only constitutionalised local self government in India but also gave the long overdue
constitutional recognition to PRIs. The legislative origins of the 73rd constitutional Amendment
Act can be traced back to the constitutional 64th Amendment Bill, which was introduced in the
Parliament in 1989. 73rd constitutional Amendment Act of 1992 introduced a three - tier structure
of rural local level - gram Panchayats at the lowest level, panchayat samiti at the intermediate
level and zilla parishad at the highest level.

Sub questions

Question Number : 146 Question Id : 53307220351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Rippon Resolution was accepted in-

1. 1982

(o

. 1882

Ld

. 1973

4. 1873
Options:
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307220352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who brought out the report ‘Revitalisation of PRIs for Democracy and Development’?

1. Ashok Mehta
2. L M Singhvi
3. Balwant Rai Mehta

4. Ashok Sen
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307220353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage, which one of the following constitutional Act, constitutionalised local
self-government in India?

1. 64th Constitution Amendment Act

2. 73rd Constitution Amendment Act

] 80th Constitution Amendment Act

4, 9'3rd Constitution Amendment Act

Options:
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307220354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In which year, 64™ Constitution Amendment Bill introduced in Parliament of India?

1. 1979

[

. 1989
3. 1992

4. 1993

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307220355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the paragraph, 73rd Constititional Amendment Act introduced which kind of rural
structure at the intermediate level?

1. Gram Panchayat
2. Panchayat Samiti

3. Zila Parishad

4. Town Planning Council

Options :
1.1
2.2
3.3
4.4

Question Id : 53307220350 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



Fraferad T o1 ufew ok i fou 7o wsit & T difere -
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Sub questions

Question Number : 146 Question Id : 53307220351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R Yoot & Widpfd ol 7T -
1. 1982
2. 1882
3.1973

4. 1873

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307220352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RaZca™zH 3H GieRaEs BR SHlGYl U8 Sdaude: RUIE $IF am™mn
1. 330 Hgdl
2. U, UH. TEud

3. dadd 1Y Hedl
4. 32NH YT

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307220353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T SR, fAgicad T 9 forg oy ooy < Ry Sl e &1 4Rd 49
Ta¥e AR &

1. 6470 Wide Hale

2. 7391 Gy guie

3. 8091 HfaeT G

4. 931 Hfde Hale
Options:
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307220354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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b F9 79
2. 1989
3.1992

4. 1993

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307220355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. fotet gRwg

4, 215 W IS

Options :
1.1
2.2
3.3
4.4





